Weekly Homework




Name ____________________________________

Monday, May 6

1.                                                                                          
 2.    


3.                                                                    


  4.  

List factors for: 21= _______________   35 = ______________     14 = ___________  What is/are the common factor(s)?

Tuesday, May 7

1.                                                                              

     2.                                                                              
     


              Use model drawing to help you solve this problem
.
3.                                                                             
               4.            

Solve using order of operations:  188 - 9 x (42+ 2) = __________
Weekly Homework




Name ____________________________________

Wednesday, May 8
Estimate by rounding to nearest whole number. 



Estimate by rounding to nearest whole number.

Then find exact sum.         






Then, find exact difference.
1.                                                                                          
     2.    


      Estimated sum:                   Exact sum:                                        Estimated difference:           Exact difference:

3.                                                                    


     4.  

Solve using order of operations:  122 - 64 ( 4 x 8 =     __________


Thursday, May 9 
              Place in order from greatest to least and then add.


1.                                                                              

     2.                                                                              
     



3.                                                                             
               4.            

What are the next five composite numbers …52, ____, ____, ____, ____, ____
7.85 + .58 + 78 + 785 = 





Using model drawing, solve the following problem:


Marley, the Labrador retriever, eats 4 times as much as Spencer the Yorkie.  Together they eat 120 oz. of food a week.  How many oz. does Spencer eat in 1 week?





$7.86  (  3 = 





785 x .06 = 





809.3 – 89.38 = 





809.3 + .93 + .3 + 93 = 





At the park, 4/7 of the children are boys.  If there are 64 boys at the park, how many girls are at the park?




















How many children total are at the park?





4383  (  6 =





79.65 + 75.49 + .26 =





79.9 - 1.76 = 





A rectangular prism has a volume of 54 cubic feet.  Its height is 9 feet.  What are possible dimensions for the length and width?   Give two.


             


             Idea 1			       Idea 2





length ______			length ______





width _______			width _______








91.9 ÷ .04 =





67.49 + 64.79 + 67.94 + 79.4 = 





42,000 – 7,654.32 = 





Together, Miguel and Rico collected 175 books.  They delivered 1/5 of the books to a preschool and 2/5 of the books to a camp.  The rest were divided equally between 2 libraries.  How many books did each library get?





7 x 0.6 = 








